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The following table shows the distribution of the number of girls enrolled in three schools A, B and C over the

years 2017-2021. Based on the data in the table, answer the question :

Year-wise Enrollment of Girls

. Enrollment of Girls in Schools
Year 7 B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275

frafafaa aiferer 5 av 2017-2021 & SRME OF fa=medi A, B 3R ¢ & AHifed aifeersi o Ten wefkia
g | difcieT | U T 3fide & 3NYR IR U4 BT 3= SIfoid ;

gifereral 1 adaR AHiET

o faemerat # arfawrelt &1 AmHTET

A B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275

The ratio between the number of girls enrolled in School C in the year 2020 and the total number of girls
enrolled in School A and School B together in the same year is

. 11:3

C3:11
3. 4:11
4. 4:7

(1) 1

(2) 2

3) 3

(4) 4

oy 2020 ¥ fd@merd ¢ ¥ Tmifed afeisl @ Sem SR 39 a4 @ fdenray A R B ¥ AWifed $a
Sifcia1sl o1 Hem & diF I § -

by o=

14159

PG T

3.4.+11

4.4:7

1)1

(2) 2

(3) 3

4) 4

1[Option ID=26701] Question Description : general_paper_genarel paper_set 17_english_q1
2[Option ID=26702]

3[Option ID=26703]
4[Option ID=26704]
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The following table shows the distribution of the number of girls enrolled in three schools A, B and C over the
years 2017-2021. Based on the data in the table, answer the question :

Year-wise Enrollment of Girls

. Enrollment of Girls in Schools
Year e B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275

frrafafaa aferer 5 o 2017-2021 & SRE O faaadi A, B 3R ¢ & AHifed sifess o Ten wefa
g | difeT | f3U T 3fida & YR TR U4 T 30 Sl -

g1l o1 TiaR ATHIHA

. feremmerat & arferraft &1 AHIET

A B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275

The difference between the number of girls enrolled in the years 2021 and 2017 is minimum in :

. Only School A

. Only School B

. Only School C

. Both School A and School B
1) 1

(2) 2

3) 3

(4) 4

ay 2021 3R g9 2017 H THifbd arfadbiel @ W6 & dd gAdH o fog faaaa 17 |

1. ®aq faamag A 4
2. ®ad faemaa B 4§
3. %ad f[dgea c o
4. foemerg A IR faeem B ST |
(11
(2) 2
(3) 3
(4) 4
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1[Option ID=26705] Question Description : general_paper_genarel paper_set 17_english_q2
2[Option ID=26706]
3[Option ID=26707]
4[Option ID=26708]
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The following table shows the distribution of the number of girls enrolled in three schools A, B and C over the
years 2017-2021. Based on the data in the table, answer the question :

Year-wise Enrollment of Girls

. Enrollment of Girls in Schools
Year e B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275

frrafafaa aferer 5 o 2017-2021 & SRE O faaadi A, B 3R ¢ & AHifed sifess o Ten wefa
g | difeT § U 0 3fida & YR TR UY BT 3% Slfoil -

giferera &1 adaR AHiEA

. feremmerat & arferraft &1 AHIET

A B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275

Average number of girls enrolled in the year 2019 in all the three schools 1s :

208
200
216
225

P LaThonEs

(1) 1
(2) 2
(3) 3
(4) 4

Tt <=1 faemeral & oY 2010 & AHifEd aifaae i ofiwa $=I18 -

208
200
216

225

R o

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26709] Question Description : general_paper_genarel paper_set 17_english_q3
2[Option ID=26710]

3[Option ID=26711]
4[Option ID=26712]
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The following table shows the distribution of the number of girls enrolled in three schools A, B and C over the
years 2017-2021. Based on the data in the table, answer the question :

Year-wise Enrollment of Girls

. Enrollment of Girls in Schools
Year e B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275

frrafafaa aferer 5 o 2017-2021 & SRE O faaadi A, B 3R ¢ & AHifed sifess o Ten wefa
g | difeT § U 0 3fida & YR TR UY BT 3% Slfoil -

aifereTell ®1 TUaR TS
. foremmerat F anferredt @1 AMiET
A B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275
Total number of girls enrolled in all the three Schools in the year 2017 is % of the number of girls

enrolled in School C in the year 2020.

44.4
225
165
. 240
1) 1
(2) 2
3) 3
(4) 4

ay 2017 B gt AT faemerdl & Amwifed aifeersil ®1 oo g ay 2020 H faarey ¢ # Amifed
Siicrp1si &1 Fo H= B %% |

44.4
225
165
240

i el o

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26713] Question Description : general_paper_genarel paper_set 17_english_q4
2[Option ID=26714]

3[Option ID=26715]
4[Option ID=26716]
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The following table shows the distribution of the number of girls enrolled in three schools A, B and C over the
years 2017-2021. Based on the data in the table, answer the question :

Year-wise Enrollment of Girls

. Enrollment of Girls in Schools
Year e B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275

frrafafaa aferer 5 o 2017-2021 & SRE O faaadi A, B 3R ¢ & AHifed sifess o Ten wefa
g | difeT § U 0 3fida & YR TR UY BT 3% Slfoil -

giferera &1 adaR AHiEA

. feremmerat & arferraft &1 AHIET

A B C
2017 200 150 100
2018 150 225 250
2019 275 150 199
2020 250 300 200
2021 300 250 275

Total number of girls enrolled in all the three schools together 15 second highest in the year

2017
. 2019
. 2020
. 2021
(1) 1
(2) 2
(3) 3
4) 4

i i1 fenerdl & Amifed aifaerel @1 oo Se fow oy J fkdias 9aiive g 2

2017
. 2019
2020
. 2021
1 1
) 2
(3) 3
(4) 4

4 bd o

i I S

1[Option ID=26717] Question Description : general_paper_genarel paper_set 17_english_q5
2[Option ID=26718]
3[Option ID=26719]
4[Option ID=26720]
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Which of the following tools are used by learners and teachers for Asynchronous Interaction?

A. Web conferencing

B. E-mail

C. Wikis and collaborative documents
D. Discussion Boards

E. Live Streaming.

Choose the correct answer from the options given below:

.B. Cand D only

.C.D and E only
3.A.C.Dand E only
4. A and B only

1) 1

2) 2

3) 3

(4) 4

TSl SR Rerd siqegaiiad siafibar & for Fafafad 3 § 57 Suarull (o) &1 wgad Hed § 2

A. 38 I

B.SHT

c. fafeer iR Teae® Sxaw
D. 791 918 (SpeH algw)

E. TIgd €I

- feu o fomredl & @ T8t SR o1 704 S

1.$GAB, C AR D
2.$gAC, D 3IRE
3. %ad A, C,D IRE
4. $HadA AR B

1y 1

2) 2

3) 3

(4) 4

b =

1[Option ID=26721] Question Description : general_paper_genarel paper_set 17_english_q6
2[Option ID=26722]
3[Option ID=26723]
4[Option ID=26724]

Sl. No.7
QBID:17201007

Which of the following are the strategies of Cognitive Apprenticeship to develop higher order skills among
learners?

A. Mentoring, Collaboration and Socializing
B. Modelling, Coaching and Scaffolding

C. Augmentation, Retention and Explaining
D. Articulation, Reflection and Exploration
E. Memorization, Rehearsal and Identifying.

Choose the correct answer from the options given below:

.Aand D only

. A, CandE only
.B and D only

. B and C only
1)1

2) 2

(3) 3

(4) 4

b =

RN ]




st diel ¥ S=I 8 $ DIYd AP & e Fafafed 3 § o= I3as [Rgar i orifaa

82

A. AFTERH, ToanT 3R THSIOR0 AT

B. Wfa=yqur (\isfdm S 3R U8 ({=@ ) T

C. 3MTaeH, HIqURYT 3R SaReAT SH=AT (YT )

D. TT WIS (SMEHTRH), Hfiidar, 3R SFa90 (TaiRE) B

E. W@, Al 3R UgaH SRAl
< fau 7t fawedl 5 9 Hel SR &1 98- Sifow:

1. $dd A AR D
2. HAA A, C IHRE
3. $adB AR D
4. $aaAB AR C

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=26725] Question Description : general_paper_genarel paper_set 17_english_q7
2[Option ID=26726]
3[Option ID=26727]
4[Option ID=26728]

Sl. No.8
QBID:17201008

The stimulus which does not require any conditioning for desired behaviour is called as

1. Unconditional stimulus
2. Conditioned stimulus
3. Unconditioned response
4. Conditioned response
1)1
2) 2
3) 3
4) 4

39 SE S (R HaY) B {59 =0 d 91 911 7, [l aifed sraeR & fau fadht off sgea 31
GGl Tel Bldil ?

1. IR-3FPIed Je/9d
2 '3-|ﬂ§3fé d GEF U
3. TR-srgofaa srfean
4. 3Ipicrd Sgfebar
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26729] Question Description : general_paper_genarel paper_set 17_english_q8
2[Option ID=26730]
3[Option ID=26731]
4[Option ID=26732]

Sl. No.9
QBID:17201009




Which of the following curriculum development models come under Technical Scientific models?

A Taba's Model

B. Open Classroom Model

C. Weinstien and Fantini Model
D. Hunkin's Development Model
E. Goodlad's Model.

Choose the correct answer from the options given below :

.B. Cand D only

. A, CandE only
.A.Dand E only
.A,B,Dand E only
1) 1

2) 2

3) 3

(4) 4

de-el-aqi-e el @ism) & siarfd Fafafad ¥ 9 o9 uregaf faerg e emd g 2

A. a7 Pt

B. Gell H&f Fedl

c. fo=rdA iR Wit et
D. &5 o1 fgom fed
E. TSS 3T fasf

- feu o fomredl & @ T8t SR o1 704 S

| S

e Taa

4. A A, B, D INE
1)1
(2) 2
(3) 3
4) 4
1[Option ID=26733] Question Description : general_paper_genarel paper_set 17_english_q9

2[Option ID=26734]
3[Option ID=26735]
4[Option ID=26736]

SlI. No.10
QBID:17201010

Match List I with List IT

LIST1I LISTII
(Swayvam Prabha Channel Number) (Name of the channel)
A [Channel 01 I |Sanskriti
B. [Channel 02 I1. Prabodh
C. |[Channel 03 111 |Saaraswat
D. |Channel 04 IV, [Vageesh

Choose the correct answer from the options given below:

. A-I, B-III, C-T1, D-IV
. A-IIL, B-IL, C-IV, D-I
. A-IV, B-I, C-II, D-I1I
. A-I1, B-IIL, C-IV, D-I
1) 1
) 2
(3) 3
(4) 4

da L b2 =




il 1% 1Y Gl 11 1 e e

1 T I
(AU AT §E&) (9 BT )
Epid

A [dTd-01 L
B. [d9a-02 I EEE

C. [d9a-03 111 [9R%ad
D. [d9d-04 V. [grfter

fFrafciRad fasedl O 4 9t 3R &1 99+ Hifo ;

1. A1, B-I11, C-11, D-IV
2. A1, B-IL, C-IV, D-1
3. A-IV, B-1, C-II, D-III
4. A-I1, B-III, C-IV, D-I
1)1
(2) 2
(3) 3
4) 4
1[Option ID=26737] Question Description : general_paper_genarel paper_set 17_english_q10
2[Option ID=26738]

3[Option ID=26739]
4[Option ID=26740]

Sl. No.11
QBID:17201011

When a researcher has no control over the variables: he/she can only report what has happened or what 1s
happening. Such research is called as :

1. Clinical Research
2. Diagnostic Research
3. Ex post facto research
4. De facto research
1)1
(2) 2
3) 3
(4) 4

O U UGl D1 9R1 IR HUAY gl 6, dl 98 bdd U8 adl 9dbdl ¢ 1% o1 gl 9ol ¢ SUdl gl
T8 | UHT SEYH Hedrdl g -

1. fFafie srqger
2. FETH® rEYH
3. PR STHLH
4, T {THUTH

1)1

) 2

(3) 3

4) 4

1[Option ID=26741] Question Description : general_paper_genarel paper_set 17_english_q11
2[Option ID=26742]
3[Option ID=26743]
4[Option ID=26744]

Sl. No.12
QBID:17201012

Which of the following relates mainly to the issue of causality?

. Measurement validity
. Construct validity

. Internal validity

. External validity

b =

e T

1 1
) 2




(3) 3
(4) 4

Fafafad 3 § g dey Teia: RO § 2

1. {7 Qe

2. T Ay

3. AR qeyal

4. STR ael

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=26745] Question Description : general_paper_genarel paper_set 17_english_q12
2[Option ID=26746]

3[Option ID=26747]
4[Option ID=26748]

Sl. No.13
QBID:17201013

A sampling technique in which units are randomly sampled from a population that has been divided into
categories, 1s called:

1. Simple Random Sampling

2. Stratified Random Sampling

. Cluster Random Sampling

. Systematic Random Sampling

L

(1) 1
(2) 2
(3) 3
(4) 4

yfoaa do-i® fgw'a?ﬁﬁﬁlmﬂﬁv—ﬁ Ay I aefese U T 5ol of Uidea- faar odr &,
U B |

. IR gref=se ufd=g

. Tigd Trefse ufdag
. Y Uref=e ufdag

. aiyd Trefws® ufd=g
1) 1

(2) 2

() 3

4) 4

da Lo b2 =

1[Option ID=26749] Question Description : general_paper_genarel paper_set 17_english_q13
2[Option ID=26750]
3[Option ID=26751]
4[Option ID=26752]

Sl. No.14
QBID:17201014

Given below are two statements:

Statement-I : Debriefing involves revealing the purposes of the research to the participants.
Statement-II : Debriefing of participants takes place at the beginning of a study.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT is incorrect.
4, Statement I is incorrect but Statement II is correct,
1) 1
(2) 2
3) 3




(4) 4

AP RUMUE

B 1 : SIS H UFIER! B 35 & Ioxg IarH M § |

HYA 11 : YITERT B St siom & SIRU Egidi g |

SWIFd BYF D 3feie H, Aid 4T 7Y fddbedl & T I8 Iuged 3tk DI 90 BT
1. Y 1 3R 11 G Tl B

2. DY SR I &HI TTed g |

3. BY 1 TG @, Afdpd HUA 11 7T6d o

4. PYF 17T §, i HYUT 11 T8l 6

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26753] Question Description : general_paper_genarel paper_set 17_english_q14
2[Option ID=26754]
3[Option ID=26755]
4[Option ID=26756]

SI. No.15
QBID:17201015

In which of the following scales of measurements ranking of observations is not possible?

1. Nominal
2. Ordinal
3. Interval
4. Ratio

(1) 1

(2) 2

3) 3

(4) 4

fgfaftad A= & 9aHT § 3 foad teur &1 Aofisu Syg Tgi e 2

1. q1iHE

$HYdDR
=R

STUId

B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26757] Question Description : general_paper_genarel paper_set 17_english_q15
2[Option ID=26758]

3[Option ID=26759]
4[Option ID=26760]

Sl. No.16
QBID:17201016

Critical readings in mediated communication are in character.

. Emotional
. Passive

. Ineffectual
. Cognitive

B R S

1 1
(2) 2
3) 3




(4) 4

HId SUN0 H ATAETES U6 B [a=dr A

HIaTHD
ffepg
 SHYTA!
BEIEIGIET

e ko

1)1

(2) 2

3) 3

(4) 4

1[Option ID=26761] Question Description : general_paper_genarel paper_set 17_english_q16
2[Option ID=26762]

3[Option ID=26763]
4[Option ID=26764]

Sl. No.17
QBID:17201017

The symbolic mode of communication is:

1. Instrumental
2. Non-ritualistic
3. Socio-cultural
4. Mechanical

1) 1

) 2

3) 3

(4) 4

Ul Pt wdleTEs fafd g :
T (3HTq)

. HHTS-HiEh A

1 1

) 2

@) 3

4) 4

da L b2

1[Option ID=26765] Question Description : general_paper_genarel paper_set 17_english_q17
2[Option ID=26766]
3[Option ID=26767]
4[Option ID=26768]

SI. No.18
QBID:17201018

Integrating communication with the educational system will

A. Increase opportunities for teachers to go abroad
B. Increase public awareness of educational rights
C. Improve the quality of policy preparation

D. Improve the educational service delivery

E. Make teachers to have access to better perks.

Choose the correct answer from the options given below:

A B. Conly
.B.C.D only
.C.D, E only
.A.D.E only
(1) 1
(2) 2
3) 3
(4) 4

B R




Qe TawIT & F1Y THTH o FUwoT -

A. et & fag fadr o & SR # gf S
B. Y& BRI & Ufd 51 Fresdl § gfg ST
¢. =fife a0 #1 o § guR S

D. D& Fa1 WaH H- B YR HIM

E. gl 1 sk uRaferdi &1 i ugH S

=it fau e fam e H 9 w5l SR @1 =0 Sifere:

1.$ad A, B, C
2. %gd B, C.D
3.%ddC,D.E
4. HGAdA.D.E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26769] Question Description : general_paper_genarel paper_set 17_english_q18
2[Option ID=26770]
3[Option ID=26771]
4[Option ID=26772]

SlI. No.19
QBID:17201019

Given below are two statements :
Statement-I : The Internet reflects the existence of a techno-science world of cyber-space.

Statement-II: The cyberspace has necessitated the arrival of many sub-media like e-mail, www and many
others.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement II is true.

1) 1

(2) 2

(3) 3

(4) 4

GG AT R

FHYT1 : See, TR WY & WEe-GeH @a-95T) od & 3if&ia of ufafdfad sare |

DY : FIgaR T 4 5-0d, 560y Sooy S6eg Je R SHST 30 FU-HISHI & FTHT S Hf-ard &1
g |
JWRIGd YA & AP 4, i Gu U Al § T I8! S &1 994 DI
1. Y AR 1 H 9 &
YT 1 3R 11 ST 3 B

3. YT 1 9 &, dited HUT 11 A B

| o]

4. DY ITA €. AT YT 1 IA B
1) 1
(2) 2
3) 3
(4) 4




1[Option ID=26773] Question Description : general_paper_genarel paper_set 17_english_q19
2[Option ID=26774]
3[Option ID=26775]
4[Option ID=26776]

Sl. No.20
QBID:17201020

Match List I with List IT

LESEE LISTII
(Communication (Ch tesiy
Effect) aracteristic
A |Instrumental effect | I. [Increase in self-approval
B Irectivestbos L Experience from the specimens of art and
= literature
C. |Aesthetic effect I11. [Pleasant distraction
D. [Respite effect IV. [Competence to deal with a practical problem.

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-II, B-TII, C-IV, D-I
3. A-III, B-IV, C-I, D-II
4. A-IV, B-1, C-II, D-III

(11

2) 2

3) 3

(4) 4

il 1% 1Y Gl 11 1 e e

o1 Tt I
(U1 THTE) ERILG)
g wa L [eMe-srrea A ais
EIGEIERIE] 11 [&al ud diied & el § Su4d
iedsmag uHa | 1L [ge faasur
fdcied UH1g V. [oragiie g9 ¥ e &1 amy

fFrafciRad fasedl O 4 9t 3R &1 99+ Hifo ;

A-I, B-IL, C-III, D-IV
. A-I1, B-IIL, C-IV, D-I
. A-IIL, B-IV, C-1, D-II
A-IV, B-I, C-II, D-III

glo|w|e

S I

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=26777] Question Description : general_paper_genarel paper_set 17_english_q20
2[Option ID=26778]

3[Option ID=26779]
4[Option ID=26780]

Sl. No.21
QBID:17201021

A fruit seller has some stock of fruits to be sold in three days period. Everyday he sells 50% of the available
fruits and 10% of the leftover fruits gets spoiled during every night. If the total number of fruits that got
spoiled in three days in 1983, then find how many fruits were there with the seller in the beginning?

1.22,000
2.21,000
3. 19,000
4. 24,000
(1 1
() 2
3) 3




(4) 4

ot v fadhdr & U i 29 9% 99 9T 994 & iU Ba-USR SUas § | 3Ude Bl &7 50% a8
yfefe s a1 8 3R 91194 Bl BT 10% Bd Ud® Ad & g6ic gl wid & | Afe diF i § seRr gl oA
aTcl Bl B Hd Y/ 1983 ©, TF J1d DTy & B fadhdl & U Ioafd 1 fba- Ba & 2

. 22,000
.21,000
. 19,000
. 24,000
(1 1
() 2
3) 3
(4) 4

R R

1[Option ID=26781] Question Description : general_paper_genarel paper_set 17_english_q21
2[Option ID=26782]
3[Option ID=26783]
4[Option ID=26784]

Sl. No.22
QBID:17201022

The difference between simple and compound interest on certain principal amount, for 2 years at the rate of
5% per annum, is ¥ 11.25. Find the principal amount.

1. % 4,500
2.% 5,500
3.% 4,000
4.% 4,300

1) 1

() 2

3) 3

(a) 4

et TeTe -1 WR 5% Ufciay &1 & 9 2 a8 & 3(ald ¥ QYR 3R Il oTel & T v T 11.25 8
| -1 371 BT |

. 34,500
. 35,500
. 34,000
. 4,300
(1) 1
(2) 2
3) 3
(4) 4

S O

1[Option ID=26785] Question Description : general_paper_genarel paper_set 17_english_q22
2[Option ID=26786]
3[Option ID=26787]
4[Option ID=26788]

Sl. No.23
QBID:17201023

If x= 10 and y = 0.1. which of the following expressions, has the highest value?
12252
G Rl
3,32+ 57
1.2
(1) 1
(2) 2
(3) 3
(4) 4




e x=10 3R y=0.1, FEfREd @11 Y @ive &1 7F S=dH § 2

;T
X
¥ 2
A=
¥ i 2
R

~
e

B

5
XY
(1) 1

(2) 2

3) 3

4) 4
1[Option ID=26789] Question Description : general_paper_genarel paper_set 17_english_q23
2[Option ID=26790]

3[Option ID=26791]
4[Option ID=26792]

Sl. No.24
QBID:17201024

In a certain coding language: Tour is written as 4156, Screw is written as 73698 and Tear is written is 4926.
How the word Sweater will be written in that language?

1. 7840692
2. 7892694
3. 7829946
4, 7892496

1) 1

(2) 2

3) 3

(4) 4

faeit FIf3a Te W1 Tour 1 4,156 & =9 F o1 TT T, Screw 1 73698 & 9 T o1 741 § 3R Tear
14926 S U 1 OGN TAT§ | Sweater Xe& BI 391 e HTNT H Py feral o1 2

. 7849692
. 7892694
. 7829946
. 7892496
1) 1
(2) 2
3) 3
(4) 4

S O

1[Option ID=26793] Question Description : general_paper_genarel paper_set 17_english_q24
2[Option ID=26794]
3[Option ID=26795]
4[Option ID=26796]

Sl. No.25
QBID:17201025

What number should replace question mark (?) in the below given series :
5,7, 11, 19, 35, 67,2

A1
2121
131
141
1) 1
(2) 2
(3) 3
(4) 4

R




e ) T raal © uygEe HE & ®IF R SF-5 . giHl gy 2
5,7,11,19, 35,67, 2

| I
2.121
131
. 141
(1) 1
(2) 2
(3) 3
(4) 4

S

1[Option ID=26797] Question Description : general_paper_genarel paper_set 17_english_q25
2[Option ID=26798]
3[Option ID=26799]
4[Option ID=26800]

SlI. No.26
QBID:17201026

Which fallacy is committed in the following argument? "As a society we have an obligation to support the
needy, because people who do not have sufficient resources have a right to the resources of the community".

. Begging the question

. Equivocation

. Fallacy of composition
. Appeal to emotion

S

1)1
(2) 2
(3) 3
(4) 4

Foff@d g dsR wabam g2

AT & ¥ H GART A1 & o 5 SR ol 6t Ierar @3, Jife o Tl & oy oaie e
el BI1 § SPT THETa® SeFl 1R SR ST g 1"
1. HTATHT &Y
2. dlgad
3. Hgfd-ay
4, TIHTG S8
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26801] Question Description : general_paper_genarel paper_set 17_english_q26
2[Option ID=26802]

3[Option ID=26803]
4[Option ID=26804]

Sl. No.27
QBID:17201027

Match List I with List IT

LISTI LISTII
(Statement) (Logical Equivalent)
A [No fishes are mammals. 1. |No fishes are non-mammals.
B. |All fishes are mammals. II. [No mammals are fishes.
C. |Some fishes are mammals. III. |Some mammals are non fishes.
D. |Some mammals are not fishes. | IV [Some mammals are fishes.

Choose the correct answer from the options given below:

1. A-IV, B-1, C-III, D-II
2. AL, B-IIL, C-IV, D-I
3. A-II, B-I, C-IV, D-III
4. A-III, B-II, C-IV, D-I




(1) 1
(2) 2
(3) 3
(4) 4

A1 13 F1Y Gl 11 1 e Sifee
T 1 T
(@Y7

(@ FT | TAF)
g H ' =
(@3 Yl T A3idl Jel gid

B. [qufi gt T g 8 1 | 1L k|
C. [ HB el wAur Bl & | | 11 [§@ THur TR-ABiedl gl ¢ |
D. %’_‘l‘ﬂi T HSTCH 6T 819 | 1y s <t wrsfert 9131 2
fFrafafad faeedl & 9 98t IR &1 907 S ;

. A-IV, B-I, C-III, D-II

. A-II, B-IIL, C-IV, D-I
3. A-II, B-I, C-IV, D-III
4. A-III, B-II, C-IV, D-I

1) 1

() 2

(3) 3

(4) 4

[

1[Option ID=26805] Question Description : general_paper_genarel paper_set 17_english_q27
2[Option ID=26806]
3[Option ID=26807]
4[Option ID=26808]

Sl. No.28
QBID:17201028

If the statement 'Some animals are birds', is given as false, then which of the following statements could be
immediately inferred to be true?

A. All animals are birds.
B. No animals are birds.
C. Some animals are not birds.
D. All birds are animals.

Choose the most appropriate answer from the options given below:

1. B only

2. Aand D only
3. Conly

4. B and C only
1) 1

(2) 2

(3) 3

(4) 4




Ale HYF GO I &l §1d & Td $9 ¥ a1 T 8, A1 FEiEd O 9 B Wl SU dicblie 39 9
T S o fou o edrasd 278 2

Aoy uaftieR ®

B. 315 M ug uef e e €
C.Fo WU T E
D. Jft gefi o B §

=< feu 77U fasedl § 9 Had I9gdd TR Pl 90 BIoIE:

1. %dd B
2. %dd A AR D
3.%dd C
4. $aAB AR C
(1 1
(2) 2
(3) 3
(4) 4

1[Option ID=26809] Question Description : general_paper_genarel paper_set 17_english_q28
2[Option ID=26810]
3[Option ID=26811]
4[Option ID=26812]

Sl. No.29
QBID:17201029

Which of the following statements are so related that they cannot both be true, although they both may be
false?

A. All trees have roots.

B. No trees have roots.

C. Some trees have roots.

D. Some trees do not have roots.

Choose the most appropriate answer from the options given below:

.Cand D only
. A and B only
.Band D only
.Aand C only
1)1
(2) 2
(3) 3
(4) 4

FeaffEa A P T P S TR e e [P s I el sl 9d &, Jafi d S T Bl 9 § 2

A g TS gl g |
B. fodt g A S i gidi g |
C.PO &I H WS BII § |
D. $ il # oS TR g © |
- feu e fawed § 9 9e9 I9gad TR B T HIT:
1.%ad C HRD

da Lo ba o=

1[Option ID=26813] Question Description : general_paper_genarel paper_set 17_english_q29




2[Option ID=26814]
3[Option ID=26815]
4[Option ID=26816]

Sl. No.30
QBID:17201030

According to Nyaya (classical Indian school of logic) which of the following is an example of Badhit fallacy
(non-inferentially contradicted middle)?

1. Sound is quality because it is visible
2. Sound is eternal because it is produced
3. All things are non-eternal because they are knowable.
4. Fire 1s cold because it is a substance.
1) 1
2) 2
3) 3
(4) 4

YR IR <010 54 & SR Fafafad 3§ 9 &F 91 @iftd 7@ 9 (R-aHis amdrfid 3¢ ue)
BT JETERUI 2

e U1 § i Tg TR B |

. saf TTYyd € F4ife g8 Sad Bldi 8 |
T Il IR-Xyd & P d I eldl ¢ |
S faa e wifr et dasidig |

(1) 1
(2) 2
(3) 3
(4) 4

da L b

1[Option ID=26817] Question Description : general_paper_genarel paper_set 17_english_q30
2[Option ID=26818]
3[Option ID=26819]
4[Option ID=26820]

Sl. No.31
QBID:17201031

Consider the following in MS-EXCEL spreadsheet :

A B C D E
1 Day Weather | Temp. Play Tennis? Go Running?
2| Monday Sunny High
3| Tuesday Windy High
4| Wednesday | Raining | Medium
5| Thursdav Sunny Low
6 Friday Sunny Medium

Suppose the formula = IF(B2 = "Sunny”, IF(C2<>"Low". "Yes", "No"), "No") is entered into D2 and then the
cell is copied and pasted to D3:D6. On what days does Column D report "Yes"?

. Monday and Friday only

. Monday and Tuesday only

3. Thursday and Friday only

4. Monday, Thursday and Friday

1)1

2) 2

3) 3

(4) 4

o=




frofatad torg.uaaq Ofe R fgar @i -

A B C D E
T e GIELIC] g s 9
TR | T (Sunay) 15 (High)
AR [ds] (Windy) | 815 (High)
FHAR | I Raining) | FTSTH Midiam)
TTedRR T (Sunny) il {Low)
ThaR | Tl (Sunny) | AINSTH (Midiam)

an |en | de o ba | =

A1 S 9 = IF (B2 = "Sunny”, IF (C2 <> "Low", "Yes", "No"), "No") D2 ¥ Hfa¥ {1 5 & 3R R T
@1 PHIUT {1 ST § GUT 5 D3 : D6 T URe far a1 § | Ffad D a5 fet » Yes” o B 2

1. $dd iHdR aing,mqm
2. Hdd IR HR G
3. $9d AR 3R YHAR
4. IHAR, THAR 3R YhHaR

1 1

2) 2

(3) 3

4) 4

1[Option ID=26821] Question Description : general_paper_genarel paper_set 17_english_q31
2[Option ID=26822]
3[Option ID=26823]
4[Option ID=26824]

Sl. No.32
QBID:17201032

Which statement best describes data compression?

. The process of calculating the file size of a saved file.

. The process of encoding characters into more than one language.

. The process of encoding information to try and use fewer bits than the original data
. The process of removing necessary data from a file.

ks =

e L

(1) 1
(2) 2
(3) 3
(4) 4

fFgfafaa d o9 91 $Y+ sier duis- & gafag e Y aftffd sare 2

1. TR&a 31775 BIgd & BIod Uigsl & GRS B Wbl

2. U ¥ 31 WIST & Ul &l Peag B B Hichar

3. W ST B1 3T HH f§e & UG gRI Y21 Bl Heag B3 B Ufbar
4, T BIga I 3aRGD SICT B G DI Hichdl

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26825] Question Description : general_paper_genarel paper_set 17_english_q32
2[Option ID=26826]
3[Option ID=26827]
4[Option ID=26828]

Sl. No.33
QBID:17201033




Given below are two statements :

Statement-I : Twitter is an example of a Web 2.0 application.

Statement-II : Web 2.0 refers to static text-based information websites.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement IT are true.

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

(2) 2

(3) 3

(4) 4

TR fumE:

DY : g2 A9 2.0 DA BI U 3G |

HUF 11 : 39 2.0, VAP Tae MeTRd Y= Jaagel I Yafed g1

IWRIFI BYF & 3Tdld |, A 14U 7u fadwedl § O el 3R &1 9094 Bl
1. SYF I 3R 11 G T §
2. BYAT SR I GHI ST B

3. BYT 1 T 8. Tl HYUF 11 38T B

ko =

4. PYT1ITA B, AP HFYT T gA B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26829] Question Description : general_paper_genarel paper_set 17_english_q33
2[Option ID=26830]

3[Option ID=26831]
4[Option ID=26832]

Sl. No.34
QBID:17201034

Which of the following systems use synchronous communication?

A. Skype video call

B. Facebook Chat

C. Email

D. Messaging on Snap chat
E. Telephone call

Choose the correct answer from the options given below:

1.A. B andE only
2.A.B.Dand E only
3.A.C.Dand E only
4. B and C only

1) 1

(2) 2

3) 3

(4) 4




fFefataa 3 ¥ o9 O a1 IaEiee 0N &1 U Sl 8 2
A.-&wsua"raigﬁrmi’m
B. PEg®
C.3Hd
D. W9 IR T
E. CUIDH ®id
< fau 7t fawedl 5 9 Hel SR &1 98- SifoE:

1[Option ID=26833] Question Description : general_paper_genarel paper_set 17_english_q34
2[Option ID=26834]
3[Option ID=26835]
4[Option ID=26836]

Sl. No.35
QBID:17201035

Match List I with List IT

LISTI LISTII
(Storage device) (Description)
Solid State Drive Optical media that uses concentric tracks to
AL I i c :
(SSD) allow simultaneous read-write operations.

[Violatile 1n nature that stores programs and data

B. [ROM II |
in current use.
o [Has no moving part and is therefore a very
i i - robust and reliable technologv.
D. RAM IV. [Non-volatile in nature that stores firmware

Choose the correct answer from the options given below:

. A-I, B-IV, C-IIL, D-II
. A-IIL, B-TV, C-1, D-II
AT HIEL DIV
. A-IV, B-IIL, C-I, D-TI
(1) 1
() 2
(3) 3
(4) 4

b —

NS 1




il 1% 1Y Gl 11 1 e e

T FE I
(HSRUT gfe) (Farzon
, [Fs e sra | | [a5 sipde HiSTl o1 Te Y Ue-o o
i CREGED) " [ T U U Tl o N Bl §
1. [P TS B &, 6 VT R STet
' |l acE wgn & o T e
i D Py Yed Taa-2id Jol Bidl & AR
& i 1 e I S5 9% Ud faya- geifiet &
SUD! UdhTd R Bl & ol BHITR &l
EERGCEEGI

B. RiF (ROM)

D. R (RAM) IV.

FrafiRad fasedl 4 4 9t 3R &1 99+ Hifoy :

. A-I, B-IV, C-III, D-TI
. A-IIL, B-TV, C-1, D-TI
. A-II, B-IL, C-1, D-IV
. A-IV, B-IIL, C-I, D-II
1) 1
(2) 2
(3) 3
(4) 4

da L b2

1[Option ID=26837] Question Description : general_paper_genarel paper_set 17_english_q35
2[Option ID=26838]
3[Option ID=26839]
4[Option ID=26840]

Sl. No.36
QBID:17201036

Chlorination of water 1s done to

. Remove microbes

. Remove hardness
3. Increase salt contents
4. Decrease turbidity

1y 1

(2) 2

(3) 3

(4) 4

Ut &1 ARGl 769 fiu fasar snars 2

1. J&H ST (H1ShIE) B G PR & fog
DRI G B & iy

. TqU & 3T H gieg HI & ey

. TiEama &H B & fore

1) 1

(2) 2

3) 3

4) a

ba =

FR I S

1[Option ID=26841] Question Description : general_paper_genarel paper_set 17_english_q36
2[Option ID=26842]
3[Option ID=26843]
4[Option ID=26844]

Sl. No.37
QBID:17201037

What is the average thickness of Ozone layer ?

> 1cm

< 1em

.1 cmto 1 meter
.= 1 meter

| SR

= T




(1) 1
(2) 2
(3) 3
(4) 4

SIS IR & g HieTs fbai g 2

> 19t

L= 13t
18HT O Hiew
> 1HieR
(1 1

2) 2

3) 3

(4) 4

da L bd o=

1[Option ID=26845] Question Description : general_paper_genarel paper_set 17_english_q37
2[Option ID=26846]
3[Option ID=26847]
4[Option ID=26848]

Sl. No.38

QBID:17201038
Given below are two statements :
Statement-I: Ion exchange is an example of tertiary waste water treatment process.
Statement-II: Ton exchange is used for the removal of residual suspended solids.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

(2) 2

3) 3

(4) 4

SIEACAIE TR IR
HYAT : S Tafea, Joiae Sy S Qe Uithal 1 3aERu§ |
HYA 11 - A fafymg &1 g safdy Hdfed 3 & a9 & foru fearsrarg |
SR B & A 5, 119 3y T el § 3 98 9k 31 999 Sife
1. PYF 1 SR I aHl T B
YA I SR 11 3 S B

3. YA 1 9 &, dited HUF 11 A B

| o]

4. DY 4TI ¢, AT PUT T IA B
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=26849] Question Description : general_paper_genarel paper_set 17_english_q38
2[Option ID=26850]

3[Option ID=26851]
4[Option ID=26852]

Sl. No.39
QBID:17201039




Given below are two statements :

Statement-I : Montreal Protocol was agreed in 1987 and came into force in 1990.
Statement-II : Kyoto protocol was agreed in 1997 and came into force in 2005.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement IT are true.

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

(2) 2

(3) 3

(4) 4

BRI AR
DY - Hilcgd Uiciela ausiidl ay 1087 H gl ol 3R ay 1000 T Sif&ia ¥ 31T |

ko =

HY 11 : FIC] Uicidla THS ay 1997 & g7 41 3R a¥ 2005 § aif&ia & man |
IWRIFI BYF & 3Tdld |, A 14U 7u fadwedl § O el 3R &1 9094 Bl

1. YA 1 3R 11 GHI 9 &

2. BYAT SR I GHI ST B

3. BYT 1A B, Afb B 11 A 3

4. PYT1ITA B, AP HFYT T gA B
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=26853] Question Description : general_paper_genarel paper_set 17_english_q39
2[Option ID=26854]

3[Option ID=26855]
4[Option ID=26856]

Sl. No.40
QBID:17201040

Given below are two statements :

Statement-I: Some pollutants such as carbon tetrachloride (CCly), pesticides and heavy metals cause liver

damage.
Statement-II: Toxic chemicals that cause liver damage are called Hematotoxins.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement II 1s true.

(1) 1

(2) 2

(3) 3

(4) 4




- 2 Py RU U E:
DY : BT CCTHRIRISS (CCly) DISATDT 3R URI 13 S UguD Fhd B! &ffd Ugamd @ |
B 11 : TP BT &ifcl IgTH aTcl {98 9] i WadavsRl (RHeieiida-) eI onars |
IWRIGd PYA $ 3f1aie |, = AU 710 fawedi # 3 et SR &1 98- Bifo:

1. YA 1 3R 11 GH1 9 &

2. BYAT SR I GHI ST B

3. BYT 1 T 8. Tl HYUF 11 38T B

4. PYT1ITA B, AP HFYT T gA B
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=26857] Question Description : general_paper_genarel paper_set 17_english_q40
2[Option ID=26858]

3[Option ID=26859]
4[Option ID=26860]

Sl. No.41
QBID:17201041

Which of the following eritical dimensions of values and ethies must be focussed for promoting quality Higher
Education?

A. Accountability
B. Participation
C. Integrity

D. Competency
E. Transparency

Choose the most appropriate answer from the options given below:

1. A D and E only
2. Cand E only

.B. Cand D only
A.B.C.Dand E

1)1
(2) 2
(3) 3
(4) 4

UGTIIRS 3= [R1&f Bl UicdIied B & 70 el $iR Afdedr & FHufeiad § ¥ 9 g smami w)
AR Y U BiHy A1 gl ?

A. FRaEG
B. IEHIFTT
C. gafsT

D. F&HdT
E. YRagld

- feu 77T famet # 9 9ad SUgH SR 1 I SIS

1.HGTA, D 3RE
2. $FAC IARE
3. %4 B, C 3R D
4.A,B.C.D3RE
1y 1
2) 2

o




(3) 3
(4) 4

1[Option ID=26861] Question Description : general_paper_genarel paper_set 17_english_q41
2[Option ID=26862]
3[Option ID=26863]
4[Option ID=26864]

Sl. No.42
QBID:17201042

The First Buddhist Council with an aim for education was constituted in:

. Mandalay in 1871 AD
Vaishali in 383 BC
3. Sattapani in 483 BC
4. Patliputra in 250 BC
1) 1
2) 2
(3) 3
(4) 4

fR1e & I5xg arell yud dig uRee Hgf nfed @1 718 ot 2

18715 AOisa &
38359, § amen
483 3.9, H Taqoi o
25039, A grefoga &

1) 1
(2) 2
(3) 3
(4) 4

| SR

O I

1[Option ID=26865] Question Description : general_paper_genarel paper_set 17_english_q42
2[Option ID=26866]
3[Option ID=26867]
4[Option ID=26868]

Sl. No.43
QBID:17201043

Given below are two statements :

Statement-I: National Council for Teacher Education (NCTE) was made a statutory body by the Act of
Parliament in 1993.

Statement-II: Dr. S. Radhakrishnan was the Chairman of University Education Commission set up in 1948,
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but Statement II 1s incorrect.
4, Statement I is incorrect but Statement II is correct.

(1) 1
(2) 2
(3) 3
(4) 4




R PuEfigme

HYA 1 ; AP e e aRwg (@Es) &1 oy 1003 H 993 & sififan gr1 wifafée Fem s
T |

HU 11 : Y 1048 T AT fayfaenea Rigm s & sremef S 08, AUGwH Y |
SWRIFd BYF D 3feile H, A 4T 7Y fddedi & I I8 Iuged Itk DI 99 BT
1. P 1 3R 11 3T W8T §
2. YT SR I EHI a5 |
3. BY TG 6, AP BY 11 7T B
4. PYF 17T §, i HYUT 11 98! 6

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26869] Question Description : general_paper_genarel paper_set 17_english_q43
2[Option ID=26870]
3[Option ID=26871]
4[Option ID=26872]

Sl. No.44
QBID:17201044

Which of the following Engineering colleges were there in India in the year 19027

A. Roorkee
B. Sibapur
C. Poona
D. Madras

Choose the correct answer from the options given below:

.A.Band D only
CA.B.CandD
.Aand D only

. A and C only
1)1

2) 2

3) 3

(4) 4

YR H a9 1002 § FEfafad § ¥ oF 3 el alaw 42

A TSP
B. RETR

C. G
D. Had

- feg o fomred @ T8t SR o1 704 S
1. $TAA, B 3R D

2.A.B,C3RD
3. HdT A IMRD
4. HAAAARC

(1 1

(2) 2

3) 3

(4) 4

b =

e Taa

1[Option ID=26873] Question Description : general_paper_genarel paper_set 17_english_q44




2[Option ID=26874]
3[Option ID=26875]
4[Option ID=26876]

Sl. No.45
QBID:17201045

Match List I with List II

LIST1I LISTII
A |Shastras I [Logic
B. [Varta I1. |Learned disciplines
C_ [Kavvas 111 JA griculture, trade, commerce and animal husbandry
D. |Anviksiki IV [Imaginative and creative literature.

Choose the correct answer from the options given below:

. A1, B-I, C-IL, D-IV
AT B AL TRV
. A-T1, BIIL, C-IV, D-I
. A-IIL, B-IL, C-IV, D-1
1) 1
(2) 2
(3) 3
(4) 4

il 1% 1Y Gl 11 1 e e
A T TR 1

B O

A [T 1 |[ddb

B. [ardl L [HispTisd fawg

C. o I1L. (519, STUR, AUy 3R YRL-UTeH
D. |3ff-afgdT IV [EedTRITd 3R ged® died

fFrafdRad fasedl T 4 9t 3R &1 99+ Hifoy :

. A-II, B-I, C-III, D-IV
. A-II, B-IL, C-1, D-IV
. A-II, B-IIL, C-IV, D-I
. A-IIL, B-IL, C-IV, D-1
(1 1
() 2
(3) 3
(4) 4

[ S

A S|

1[Option ID=26877] Question Description : general_paper_genarel paper_set 17_english_q45
2[Option ID=26878]
3[Option ID=26879]
4[Option ID=26880]

SlI. No.46
QBID:17201046




Read the following passage and answer the question.

The idea of the "White Man's Burden' was promoted and popularized by Rudyard Kipling through his similarly
titled poem written in 1899. By 1860 the British expansion in India was complete. Carnoy uses the White
Man's Burden as a motivating factor for British expansion in the eighteenth century, a century before it was
even conceptualized. Contrary to Carnoy's assumption, missionaries often fought for the rights of the local
population from the very beginning. Rev V. Taylor. after witnessing the execution of a Kannada peasant in
Dharwar district, fought for the recognition of Kannada as a court language in the Bombay Presidency in
1836. This entirely Kannada-speaking district had Marathi village and district officers due to the pre-colonial
Peshwa rule. The system was continued under the colonial rule. The execution took place because the peasant
charged with murder had given his testimonial in Kannada, which was recorded in Marathi by the native
official, and the court proceeding was conducted in Hindustani. The prisoner, ignorant of both Marathi and
Hindustani, unwillingly expressed assent to the confession. There was no circumstantial evidence against him.
He was charged with murder and later executed. Taylor effectively fought for the introduction of Kannada as
the language of administration and education. Within six months Kannada, was made a court language and
twenty-seven Kannada primary schools were established in the district.

frgfafad ey @i ufeu sk 5T T Uy &1 SR Eifeiu -

SIS e gRT ®i5e 59 9o & [GaR & 1890 H fordl 75 541 Wiv® ot wfddl & Areos I
vicafed favan T 3R Serar fdar 7w | 1860 9@ YRa H fafesr faxar uul &1 g&1 U1 | ®ige B 98 &1
B & U WdTsal U4 6l HRA10 SHP] SUaNT 3oRed! 9g) | fafe™ fawR & fou IRe ®Re & 34
TPIA ¢ | B B! YRON & fOid R oy ¥ € —urig @il & HfYeRi & e asd 9 | 9Rars
fo1el © Usp s (o 1 Wikl B @ & I ¥4. dl. <ok 1836 H g Uis=l § ods o gy
@1 YY1 & =0 § G1gd] fGar 8q @9 | SUMHAR-yd U=mal I & $RU 590X Sds 1 foret 3 ooy
SR foren SR ISt ¥ | 3iualRie o o of ot vond! ol 3T | $us far & B gafe &
TS Wi B & SR [ 7 397 T1eg o YT 3 7@ ¥ | 59 WY fYeR gR g 2 Rars
fara T SR AT o SrarR! oG 8 SRl s | el B RI6! BT I o7 3R A G5 &1
Y1 39 A F16d §U o orR1y WieR &= o | 396 favs ol ukfRufas-a are =] o1 | 39 R e
T SR TN T T 3R 38 BRI & 21 175 | T0R A UL 3R a1 &1 U & &9 & $9S & 3910
SH & U uHTd TS aet | §: 718 & Hiok $us J0-BI6 &1 YN a1 175 3R o & aas g oas
Ty aTe WA 9=y wifud feu g |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R :

Assertion A: The village and district officers in Dharwar district were Kannada.
Reason R: Dharwar district in the pre-colonial era was ruled by the Peshwa.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A is correct but R is not correct.
4. A 1s not correct but R is correct.
1) 1
2) 2
3) 3
4) 4

4 2 FYF U U §: U SHUBYT (Assertion A) & =0 H A& T 1 GURI 3P BRI (Reason R) &
37 I

HFHYT A - yRars fore H arir 3R e siffe sas ¢ |
HRUIR : SUHAR-UE Fral H eRars foret T U=mar 1 = o7 |
QRIS By & 3HTelld 1, -iid f[3u T fasedi T 9 969 Sugead 3R &1 98- HIfl |

1. AR R M TSI € 3R R, A FT T 2T 2
2. A 3R R M T8 € AP R, A T T T TRl B
. ATEI ¢ AfTR TR TR B

ATEI TSI e AT R TEI B

[#S]
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1) 1

(2) 2

(3) 3

4) 4

1[Option ID=26881] Question Description : general_paper_genarel paper_set 17_english_q46
2[Option ID=26882]

3[Option ID=26883]
4[Option ID=26884]

SI. No.47
QBID:17201047 ]
Read the following passage and answer the question.

The idea of the "White Man's Burden' was promoted and popularized by Rudyard Kipling through his similarly
titled poem written in 1899. By 1860 the British expansion in India was complete. Carmoy uses the White
Man's Burden as a motivating factor for British expansion in the eighteenth century. a century before it was
even conceptualized. Contrary to Carnoy's assumption, missionaries often fought for the rights of the local
population from the very beginning. Rev V. Taylor. after witnessing the execution of a Kannada peasant in
Dharwar district, fought for the recognition of Kannada as a court language in the Bombay Presidency in
1836. This entirely Kannada-speaking district had Marathi village and district officers due to the pre-colonial
Peshwa rule. The system was continued under the colonial rule. The execution took place because the peasant
charged with murder had given his testimonial in Kannada, which was recorded in Marathi by the native
official, and the court proceeding was conducted in Hindustani. The prisoner, ignorant of both Marathi and
Hindustani, unwillingly expressed assent to the confession. There was no circumstantial evidence against him.
He was charged with murder and later executed. Taylor effectively fought for the introduction of Kannada as
the language of administration and education. Within six months Kannada, was made a court language and
twenty-seven Kannada primary schools were established in the distriet.

frgfefad ey of ufeu 3R f3u 0 Uy &1 3R 2o -

TSUTS fpufeh gRI '®ige 3-9 o & faar @1 1890 H fordt 712 54} viive ot Sfadr & mreaw 9
rcaTied fana 7T 3R Serar 491 7T | 1860 de YR § el [axdR gul 51 g&1 U1 | '®lee T g8 &1
HHed] & U Tdlsal d ol BRA1Y SHH SUdNT SdRed! 9gl | [6feR AR & iy IRe dRe & ¥4
HHId ¢ | B B YR & [Fuid el uRy 9§ 8 W= ail & AeR] & u dsd 9 | ¥Rars
f57el O U S [ &1 Bidl &1 48 & U4 4. dl. Sox 1836 U da URHs-Hl 1 $9s &I ey
1 U & =0 F T1gd fSar 8d s | SUMA-yd U<ial I & $RUT 59 X SHds U ford 3 ardtor
3R e AER T8 2 | Suf-afe wre= 1 of g8t wonedt 9RT IET | Bus e o Bkt gafenu &
TS i g & ARIYT [ 7 3199 91eg $oe UM 8 7@ ¥ | 59 WY AR gR1 g 8 Rals
fepa 71 SR AT &1 Sriare! fegwa § S T | 35d1 &I 1 BR8] B H U7 3R 7 feg&i &1
qYT 39 A F1gd 8T o1y WieR 3= o | 396 favs Sl uRRufaa 9167 el o1 | 39 R g
T R TN T T 3R 39 Bt 2 21 775 | 20 3 ULEH 3R a1 $f U & &9 § $es & T
H & fou gyidt TS det | ©: 118 & ok $us J9-BI &1 YN g1 175 IR o & 9dis 9 $as
gy dia Wy faerery wiiud feu Iy |

The testimonial given by the peasant was recorded in :

. Hindustani
. Kannada

. Marathi

. English
1) 1

(2) 2

3) 3

(4) 4

foram gr1 e o wiea for v & Reaers b a2
1. feg=rit
2. FAS
3. TRIBT
4. 3St
(1) 1

) 2
(3) 3
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(4) 4

1[Option ID=26885] Question Description : general_paper_genarel paper_set 17_english_q47
2[Option ID=26886]
3[Option ID=26887]
4[Option ID=26888]

Sl. No.48
QBID:17201048 ]
Read the following passage and answer the question.

The idea of the "White Man's Burden' was promoted and popularized by Rudyard Kipling through his similarly
titled poem written in 1899. By 1860 the British expansion in India was complete. Carmoy uses the White
Man's Burden as a motivating factor for British expansion in the eighteenth century. a century before it was
even conceptualized. Contrary to Carnoy's assumption, missionaries often fought for the rights of the local
population from the very beginning. Rev V. Taylor. after witnessing the execution of a Kannada peasant in
Dharwar district, fought for the recognition of Kannada as a court language in the Bombay Presidency in
1836. This entirely Kannada-speaking district had Marathi village and district officers due to the pre-colonial
Peshwa rule. The system was continued under the colonial rule. The execution took place because the peasant
charged with murder had given his testimonial in Kannada, which was recorded in Marathi by the native
official, and the court proceeding was conducted in Hindustani. The prisoner, ignorant of both Marathi and
Hindustani, unwillingly expressed assent to the confession. There was no circumstantial evidence against him.
He was charged with murder and later executed. Taylor effectively fought for the introduction of Kannada as
the language of administration and education. Within six months Kannada, was made a court language and
twenty-seven Kannada primary schools were established in the distriet.

frgfefad ey of ufeu 3R f3u 0 Uy &1 3R 2o -

TEars [Hufein gRI @ge 3 go- & [duR &1 18990 # fordt 775 54t vfive ot Sfddr & areom I
rcaTied fana 7T 3R Serar 491 7T | 1860 de YR § el [axdR gul 51 g&1 U1 | '®lee T g8 &1
HHed] & U Tdlsal d ol BRA1Y SHH SUdNT SdRed! 9gl | [6feR AR & iy IRe dRe & ¥4
HHId ¢ | B B YR & [Fuid el uRy 9§ 8 W= ail & AeR] & u dsd 9 | ¥Rars
forel & Ueh s {6 @1 Bidl &l 4@ & gyid Id. di. <o 1836 H a1 Uiis—l & ods ol ey
@1 NI & =0 H O1-gd] [GdH 8 a9 | SUMdY-Yd URTdl YA & SRUT S Y s U1 fored 3 ardior
SR forer et 1dt ¥ | SfufHaRe ureE | Y a8t vondd! 9Rl T | $us feae & B sfen &
TS FIT% 8T & RIUT = 3 30- T das YT 8 39 ¥ | 39 T SfaR! gr1 mel 8 Rars
fepa 71 SR AT &1 Sriare! fegwa § S T | 35d1 &I 1 BR8] B H U7 3R 7 feg&i &1
qYT 39 A F1gd 8T o1y WieR 3= o | 396 favs Sl uRRufaa 9167 el o1 | 39 R g
T R TN T T 3R 39 Bt 2 21 775 | 20 3 ULEH 3R a1 $f U & &9 § $es & T
H & fou gyidt TS det | ©: 118 & ok $us J9-BI &1 YN g1 175 IR o & 9dis 9 $as
gy dia Wy faerery wiiud feu Iy |

Given below are two statements :

Statement-I: Carnoy was in favour of British expansion in India.
Statement-II: Carnoy believed in the supremacy of White Man.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT is incorrect.
4, Statement I is incorrect but Statement II is correct,
(1) 1
(2) 2
(3) 3
(4) 4




GEEIEaIEICtRi £
DY BT HRA H fofex faaR d ug H 4 |
YT 11 - HAY G AT Dt JFATH fayra HRd U |
SWIFd BYF D 3feile H, i 4T 7Y fadedi & I I8 Iuged IR DI 99 BT
1. B 1 3R 11 3T Tl §
2. YT SR I EHI T 5 |
3. PY TG 6, AP BY I1 7T B
4. PYF 17T §, i HYUT 11 T8l 6

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26889] Question Description : general_paper_genarel paper_set 17_english_q48
2[Option ID=26890]
3[Option ID=26891]
4[Option ID=26892]

SI. No.49
QBID:17201049
Read the following passage and answer the question.

The idea of the "White Man's Burden' was promoted and popularized by Rudyard Kipling through his similarly
titled poem written in 1899. By 1860 the British expansion in India was complete. Carmoy uses the White
Man's Burden as a motivating factor for British expansion in the eighteenth century. a century before it was
even conceptualized. Contrary to Carnoy's assumption, missionaries often fought for the rights of the local
population from the very beginning. Rev V. Taylor. after witnessing the execution of a Kannada peasant in
Dharwar district. fought for the recognition of Kannada as a court language in the Bombay Presidency in
1836. This entirely Kannada-speaking district had Marathi village and district officers due to the pre-colonial
Peshwa rule. The system was continued under the colonial rule. The execution took place because the peasant
charged with murder had given his testimonial in Kannada, which was recorded in Marathi by the native
official, and the court proceeding was conducted in Hindustani. The prisoner, ignorant of both Marathi and
Hindustani, unwillingly expressed assent to the confession. There was no circumstantial evidence against him.
He was charged with murder and later executed. Taylor effectively fought for the introduction of Kannada as
the language of administration and education. Within six months Kannada. was made a court language and
twenty-seven Kannada primary schools were established in the district.

frgfaiag meiy o ufeu 3R 3T U Uy &1 3R 2o -

TS [Hufen gRI'®Ige B9 o & [daR &I 1899 T fordt 718 g&it 2five ot Bfdar & mremg 9
Hcafed féa T SR gerar fgar 7 | 1860 A9 YR § fafexr faxar gul &1 g&1 U1 | '®ige B0 g8 &1
HH 1 & TP dTsel U4 &1 HRA1T s9P] SUaNT SoRed! 941 H f6few fawR & o IRe &Re & 34
H B & | P1Y B URON & [TOId B2 URY 9 o R ai & Af9eR & T asd ¥ | yRars
f57el O U S g &1 Bidl &1 48 & U4 4. dl. Sox 1836 1 dl'a URHS-Hl 1 $9s &I ey
1 U & =0 F T1gd fSar 8d s | SUMA-yd U<ial I & $RUT 59 X SHds U ford 3 ardtor
3R e AER T8 2 | Suf-afe wre= 1 of g8t wonedt 9RT IET | Bus e o Bkt gafenu &
TS i g & ARIYT [ 7 3199 91eg $oe UM 8 7@ ¥ | 59 WY AR gR1 g 8 Rals
fepa 71 SR AT &1 Sriare! fegwa § S T | 35d1 &I 1 BR8] B H U7 3R 7 feg&i &1
qYT 39 A F1gd 8T o1y WieR 3= o | 396 favs Sl uRRufaa 9167 el o1 | 39 R g
T R TN T T 3R 39 Bt 2 21 775 | 20 3 ULEH 3R a1 $f U & &9 § $es & T
H & fou gyidt TS det | ©: 118 & ok $us J9-BI &1 YN g1 175 IR o & 9dis 9 $as
gy ara Wy faerey wiitd feu g |

The peasant who was executed, was conversant in which of the following languages?

. Hindustani
. English

. Marathi

. Kannada

o =

S




(1) 1
(2) 2
(3) 3
(4) 4

g% fopar o widdt 2 < s, Fafafaa § 9 gy & Sradid s adarar 2
1. feg=rit

 3fTUSht

R8T
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1)1

(2) 2

(3) 3

4) 4

1[Option ID=26893] Question Description : general_paper_genarel paper_set 17_english_q49
2[Option ID=26894]

3[Option ID=26895]
4[Option ID=26896]

Sl. No.50
QBID:17201050
Read the following passage and answer the question.

The idea of the "White Man's Burden' was promoted and popularized by Rudyard Kipling through his similarly
titled poem written in 1899. By 1860 the British expansion in India was complete. Carmoy uses the White
Man's Burden as a motivating factor for British expansion in the eighteenth century. a century before it was
even conceptualized. Contrary to Carnoy's assumption, missionaries often fought for the rights of the local
population from the very beginning. Rev V. Taylor. after witnessing the execution of a Kannada peasant in
Dharwar district, fought for the recognition of Kannada as a court language in the Bombay Presidency in
1836. This entirely Kannada-speaking district had Marathi village and district officers due to the pre-colonial
Peshwa rule. The system was continued under the colonial rule. The execution took place because the peasant
charged with murder had given his testimonial in Kannada, which was recorded in Marathi by the native
official, and the court proceeding was conducted in Hindustani. The prisoner, ignorant of both Marathi and
Hindustani, unwillingly expressed assent to the confession. There was no circumstantial evidence against him.
He was charged with murder and later executed. Taylor effectively fought for the introduction of Kannada as
the language of administration and education. Within six months Kannada. was made a court language and
twenty-seven Kannada primary schools were established in the district.

frgfaiag meiy o ufeu 3R 3T U Uy &1 3R 2o -

TS [Hufen gRI'®Ige B9 o & [daR &I 1899 T fordt 718 g&it 2five ot Bfdar & mremg 9
Hcafed féa T SR gerar fgar 7 | 1860 A9 YR § fafexr faxar gul &1 g&1 U1 | '®ige B0 g8 &1
HH 1 & TP dTsel U4 &1 HRA1T s9P] SUaNT SoRed! 941 H f6few fawR & o IRe &Re & 34
H B & | P1Y B URON & [TOId B2 URY 9 o R ai & Af9eR & T asd ¥ | yRars
f57el O U S g &1 Bidl &1 48 & U4 4. dl. Sox 1836 1 dl'a URHS-Hl 1 $9s &I ey
1 U & =0 F T1gd fSar 8d s | SUMA-yd U<ial I & $RUT 59 X SHds U ford 3 ardtor
3R e AER T8 2 | Suf-afe wre= 1 of g8t wonedt 9RT IET | Bus e o Bkt gafenu &
TS i g & ARIYT [ 7 3199 91eg $oe UM 8 7@ ¥ | 59 WY AR gR1 g 8 Rals
fepa 71 SR AT &1 Sriare! fegwa § S T | 35d1 &I 1 BR8] B H U7 3R 7 feg&i &1
qYT 39 A F1gd 8T o1y WieR 3= o | 396 favs Sl uRRufaa 9167 el o1 | 39 R g
T R TN T T 3R 39 Bt 2 21 775 | 20 3 ULEH 3R a1 $f U & &9 § $es & T
H & fou gyidt TS det | ©: 118 & ok $us J9-BI &1 YN g1 175 IR o & 9dis 9 $as
gy dia Wy faerery wiiud feu Iy |




Identify those who were sympathetic to the rights of the local population :

A. Rudyard Kipling
B. V. Taylor
C. Carnoy

Choose the most appropriate answer from the options given below.

. A and B only
. B only

.B and C only
. C only

1)1

) 2

(3) 3

(4) 4

fFafeRad # 3 SH-eH RIFHE a9l & S{fUeRl & uid Feryfd @0 9 2

A. T3TTS fHufen
B.dl. R
C. B

- feu e fawed § 9 9a9 I9gad IR B T HIT:

1.Hdd A IR B
2.%dd B
3. PaAB AR C
4.dd C

1 1

) 2

3) 3

(4) 4

da o ba o=

1[Option ID=26897] Question Description : general_paper_genarel paper_set 17_english_q50
2[Option ID=26898]
3[Option ID=26899]
4[Option ID=26900]

Paper II : 6-History

Sl. No.1
QBID:16001

Dhammapada. Theragatha, Therigatha and Jataka texts belong to which Buddhist Canon ?

. Digha Nikaya

. Samyurta Nikayva

Majihima Nikaya
. Khuddaka Nikaya
1) 1

(2) 2

(3) 3

(4) 4

TS, IRTTIYT, T 3R wiae 9y Fafaieaa 3 9 69 aig v 9y Se 4 96iia § 2

1. &g Ry
2. 4« e
3. givgs Hol
4. g3 ol
(1) 1
(2) 2
(3) 3
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